4041 & 4041DA PUSH SIDE (TOP JAMB) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING 4040-18TJ DROP PLATE
4040-18TJDS1 DROP PLATE

1
JAMB 87
a—_INE
9 1 _
- ~d L \
—- =
|
____L||_ ______
:_ __________ _\L_____h‘j N~ T AN _\\
: (]
I A TOP OF
| DOOR
: 3 1 15 1 2
'] _DOOR 105 16 4
" EDGE
LEFT HAND DOOR SHOWN, MAXIMUM REVEAL OF 29s16.
RIGHT HAND OPPOSITE. FOR REVEALS 25/8 - 413/16
SPECIFY LONG ROD.
Locate drop plate & shoe from centerline of FOR REVEALS 8~ 4040-18TJDS1
pivot or swing clear hinge pin when used. SPECIFY EXTRA LONG ROD.
4041 & 4041DA PUSH SIDE (TOP JAMB) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING 4040-18G DROP PLATE
JAMB al 11
~*LINE 83 | 1L 32
5 1 i {
| — ——— ] —
16 8
|
B i awn )
|J T
[ t———" 11
I
[ S ——— N AN
| - ] |'-‘r —_——— —
i [ 2 TOP OF 4040-18G
! DOOR
gl 3 5 MAXIMUM REVEAL OF 29/16.
et 10 = | = |-— FOR REVEALS 25/8 - 413/16
~=—__DOOR 4 16 SPECIFY LONG ROD.
EDGE i LEFT HAND DOOR SHOWN FOR REVEALS 8~
Locate d late & shoe f terl f )
pivot or swing clear hinge pin when used. . RIGHT HAND OPPOSITE. SPECIFY EXTRA LONG ROD.
4041 & 4041DA PULL SIDE (DOOR JAMB) DROP PLATES PULL SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING 4040-18 DROP PLATE
4040-18DS1 DROP PLATE
A 13 15
— 1015 = 1 i .
JAMB 16 —=
LINE 8
/
% Ep— ) X )
______ ] %
X |
S I + j |15 RIGHT HAND DOOR SHOWN,
— ﬁ_[—r\_ — 1 LEFT HAND OPPOSITE.
[ - 4L
8 Locate drop plate & shoe from
81— | centerline of pivot.
4
Tl /2= (14 * Note: If offset pivots are used. Increase
L—‘/i T these dimensions by 1/8".
:‘/_EE())(?ER INGH | 55 | & | 6 | B8 | 1 | 15|13 | 13
MM. | 9 16|17 |24 |25 |27 | 38 | 44
INCH | 11| 24| 24| 448+ [103[1013115 4040-18DS1
® M.M. | 49 | 64 | 65 [105|210|273|275|286

1-800-526-2400

09/09 ©2009 SCHLAGE LOCK Company. All rights reserved. DP # 28466R6




4041PA PUSH SIDE (DOOR MOUNT) DROP PLATES
PERMITS 180° MAX. OPENING, BUTT SIZE 5x5 MAX.

PUSH SIDE MOUNT ON:
4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

Y )
- b 4 A STOP FACE

[——

BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM

REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)

IMPORTANT
USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 OR 5/8

LEFT HAND DOOR SHOWN,
RIGHT HAND OPPOSITE.

IMPORTANT

Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

4041PA DELAY PUSH SIDE (DOOR MOUNT) DROP PLATES

PUSH SIDE MOUNT ON:
4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

ool

>

N
s

>

I~

§

BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM

REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)

5 | 4
3 1
0 5 IMPORTANT
8 USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 OR 5/8
)
N AN
STOP FACE
S EE—;
s Sl =
h
_,H
DOOR , Rt B
EDGE T e 4

LEFT HAND DOOR SHOWN,

IMPORTANT

Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

RIGHT HAND OPPOSITE.
4040-18PA 4040-18PADS1
INCH | &5 | 18| 3 | B [ 19| 15| 15 13
Mm. | 8 [17[19]24 |27 384344
LCN INCH | 4 | 57 615 7584 |87 10/115
® M.M.|102[138]176|200|210|214|254(292
1-800-526-2400




4041CUSH PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 110° MAX. OPENING, MIN. TOP RAIL 2 1/2". 4040-18PA DROP PLATE
4040-18PADS1 DROP PLATE

— 1 u
16
T IMPORTANT
1_9 | BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM
DOOR REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
] stop
18 ne IMPORTANT
283 mm = 85 -
10 1/2 USE SPACER BLOCK PROVIDED
267 mm = 90° FOR FIFTH SCREW. 1/2 OR 5/8
9 1/4 o
235 mm = 100
8 o
213 mm = 110 |
P NN = 1
STOP i:' x
FACE 11
_ t =
15
DOOR =
EDGE ( 16
Ll Bie —es - Locate drop plate & shoe from centerline of
7 1116 ! pivot or swing clear hinge pin when used.
195 mm = 90° 1 2 <~
6.9/16 o
167 mm = 100
12218~ 1100 LEFT HAND DOOR SHOWN,
RIGHT HAND OPPOSITE.
4041EDA PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 180° MAX. OPENING, MIN.TOP RAIL 2 1/2". 4040-18PA DROP PLATE
" 4040-18PADS1 DROP PLATE
e T
1
e IMPORTANT
BEFORE INSTALLING CLOSER, TURN BACKCHECK SELECTOR
% % - VALVE (FOUND ON OPPOSITE SIDE OF CLOSER FROM
{ ; * REGULATING SCREW SIDE) ALL THE WAY IN (CLOCKWISE)
| a
1
} 5+ IMPORTANT
USE SPACER BLOCK PROVIDED
FOR FIFTH SCREW. 1/2 OR 5/8

| ¢
_________ r N =
| STQP x x Locate drop plate & shoe from centerline of
FACE 5 pivot or swing clear hinge pin when used.
- 15
e _ wor [ [ [ § [ % |8 | ] tw[16]15
o MM.| 8 [13 | 16|17 |21 | 24| 27| 30|38
— 1T 8+ 15— INoH | 138| 13| 2% | 313154 |55 |64( 61
6B _up To 110° MM.| 43|44 | 73| 87| 94 |140({149|159|170
—— %— f——
7 . . LEFT HAND DOOR SHOWN, NcH [612] 8] 81 [8& 85949310311
—~ 3=-111°T0 180°l=—m
e RIGHT HAND OPPOSITE. MM, [176]205]210|217|219]241]248 [275/286

®

1-800-526-2400 4040-18PA 4040-18PADS1




4041T PULL SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING, MIN.TOP RAIL 1 13/16" 4040-18 DROP PLATE
JAMB LINE 4040-18DS1 DROP PLATE

&)

\—TOF’ OF DOOR

Locate drop plate & shoe from
centerline of pivot.

* Note: If offset pivots are used. Increase /
these dimensions by 3/8". S

=

— {5 I -

INCH | & | & | 2|5 | R |+ | R [15[1%
MM.| 6 | 1013 | 16|21 |22 |24 |29 | 37
INCH [ 13| 15| 23| 213| 34| 35| 45| 43|47
MM.| 38|41 | 64| 71|79 |87 [105[117|122
INCH |53 |55 |9 §111421%]

DGOR EDGE

RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE. M. [137]143|248]286|553 \4040-18DS1 )
4041T PULL SIDE (TOP JAMB) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 180° MAXIMUM OPENING, MIN. FACE OF FRAME 1 3/4" 4040T-18 DROP PLATE

" | 4040T-18DS1 DROP PLATE
42 25 53— =
tAMB/ 1I_76_ J_ —\_,J:]_V,— —\_
LINE 13 _ -
° % |«
'4% = ' o )

NI =

| 1F
ali

1 3
al 215

H\ DOOR EDGE

Locate drop plate & shoe from centerline of
pivot or swing clear hinge pin when used.

RIGHT HAND DOOR SHOWN, LEFT HAND OPPOSITE. \ 4040T-18DSH /
4041T PUSH SIDE (DOOR MOUNT) DROP PLATES PUSH SIDE MOUNT ON:
PERMITS 120° MAXIMUM OPENING, MIN. TOP RAIL 2 1/4" 4040-18PA DROP PLATE
\ 4040-18PADS1 DROP PLATE
\
lo o) |

—

RIGHT HAND DOOR SHOWN, \@NSFE DEggE

LEFT HAND OPPOSITE.
FACE OF STOP p
5 ON DDOR SIDE \ §
3 DOOR
Py° "
Tt @ s &) s |
‘ 1
- & oF TRACK HEADER
1
3 3 a 1 5%
5; gz 55 1 B 4§—D

7
AV LINE \_4040T-18DS1

® Locate drop plate & shoe from centerline of
1-800-526-2400 pivot or swing clear hinge pin when used.




